@

D

D

D

a)

4.1.4.2-18

4.1.4.2-18

4.1.4-254




)

4.1.4.2-39

e o o o o e e e e e e e e M M M e e e e e e e e e e e e e e e e mm mm MR Em Em mm e e e e

4.1.4-255

4.1.4.2-39



@

2.5km

SS

SS

D

4.1.4.2-40

@

4.1.4-256

D

4.1.4.2-5



KSO

FYZ

-SS
*Qrvz

Ceyz

Leve=Qrvz  Cevz

HZ0
SS SS
2 Qkso 2 Qhizo
Cyso Cuzo
Lkso=Qkso  Ckso “Lizo=Qzo  Chzo
FY
SO
SS
1Qv=Qkso  Qrvz SS
:Cry 2Qso
“Lev=Liso exp(=Ky tyso)tLeyz eXp(-Ky teyz) *Cizo

Cev= Ley /Qgy

“Lso=Qso  Chzo

KJz
-SS
Qxaz
Cyaz
“Lkaz=Qz  Cxuz
KJ
SS
Q=0 Quuz Qo
:Cyy
‘Lo=Ley exp(-K; te)+Leyz exp(-k; teyz)+Lso
Cra=Lka/ Qs
S1
SS
2Qs1
b 1Cs1=Cy,
La=Qs; Csy
11
SS
1Q11=Qks-Qs1
Ch
L= (Lo-Lsy) exp(-ks t,))
Co=Lu/Qu S2
SS
Qs2
7 :Cs2=Cy,
1Lsr=Qs2 Cs,
1Mz < S3
SS
-SS Q
“Qs3
-0 Kol 1Cs3=Cyy
:sz SS TLss=Qs3  Css
.LIMZ:Q I “Qor=Qn Quiz=Qs2  Qs3
Lwz=Qmz - Gz Ceon
*Lkor=(Lii-Ls2) exp(-Ks t;)+Lss exp(-k; ts3)
Cror=Lkor/ Qkar
4.1.4.2-40 ( ) SS

4.1.4-257



4.1.4.2-41

Qn=Qo+Z qi

Ln=To Qo+Z ti qit(p to/p Cw H) Qn

Tn=Ln/Qn

Qn: Qo: qi
Ln: To: Ti
to: O : p
Cw: H: Tn

P =0 ¢-(@ 1P -0 1o

¢ ,=(1-0.06)¢

@ +¢ =(0.000308+0.000185W)x (Es-Ea)x (595.4-0.54ts+ts)x 1000
@ ,=0.97x 1.171x 10°(Ts*-0.937x 10°Ta®(1+0.17C%))
Es=0.00045ts*+0.00363ts?+0.39626ts+4.4711

Ea=(0.00045ta*+0.00363ta*+0.39626ta+4.4711)x E

@, : (kcal/m?/ ) W 2 (Ws)

ts () ta )

Ts :ts+273.16(K) Ta 1ta+273.16(K)

cC : (0 1 E : © 1

4.1.4-258



4.1.4-259

KSO HZ0
“Qkso Qhizo
Tkso “Thzo
tHkso=Qkso  Tkso Hizo=Quz0  Thzo
FYzZ >
Qryz N Hso-rv
Tevz
Hevz=Qrvz Tryz FY
SO
1Qrv=Qxso*Qryz
Ty 1Qso
THe=Qry  Tey TThzo
Tey=(HesoHevz+Hso-rr) / Qe *Hso=Qso  Thzo
KJz
N
1Qxaz
Tyaz
Ho=Qaz  Traz Heveks
\
KJ
Q=0 Quuz Qo
tTks
Ho=Qu T
Tia=(Hev+Hgoz+HsotHey-k2) / Qi
S1
Qs
Haaonr Ta=To
b THs1=Qs: Tss
11
1Q11=Q-Qs1
T
Hu=Qu Ty
Ti=(Hea-HsitHka-n) /Quy S2
1Qs2
Tso=Ty
Ho=Qs2 T,
Hiikor
S3
1Mz <
- -0
“Quz KOl :T:
T
-HIMZ—Q T “Hss=Qss T3
Anz=Qmz - Tz
*Qkar=Qn Quiz=Qs2 Qss
“Tkor
Heor=Qkor  Tkar
Tor=(Hi1+Hiz=HsztHsa+H11k01) 7 Qkor
4.1.4.2-41 (




BOD 4.1.4.2-42
BOD

U & 2Q

Ly Ly exp(-ky t) Z L, exp(-ky t;)

Cy L/Qy

X

Z BOD

Y

Ky X y

t

Cy O Ly t: X BOD(mg/L) (m/s) (9/s) X
Y

C; Q L t: Z BOD (mg/L) (m%/s)

(9/s) Z Y
Cy O Ly : Y SS(mg/L) (m/s) (9/s)

4.1.4-260



KSO

HZ0

COoD BOD

*Qkso
Ckso
TLkso=Qkso  Ckso

CoD BOD

Qhizo
:Cizo
“Lizo=Quzo  Cizo

FYzZ >
-BOD
2Qrvz
Icpvz FY
Levz=Qrvz  Cevz SO
BOD
Qrv= Qeso *Qrvz BOD
1Cry .
Lev=liso @Xp(-Ky Tyso)tLevz exp(-Ky teyr) :850
Cev= Ly /Qey i
KJZ 1Lso=Qso  Chzo
-BOD
Qxaz
Cyaz
“Lkaz=Qz  Cxuz
KJ
BOD
Qa=Qrv  Quz Qso
:Cyy
‘Lo=Ley exp(=K; te)+Lesz exp(-K; tayz)+Lso
Cra=Lka/ Qs
S1
BOD
b 1Qs1
1Cs1=Cyy
" La=Qs; Cs
BOD
1Q1=Q-Qs1
Cyy
L= (Lo-Ls) exp(-ks tyy)
Ch=Lu/Qui S2
BOD
Qs2
7 :Cs2=Cy,
L=Qs2  Cso
Mz < S3
BOD
_BOD 1Qs3
i Kot 1Cs3=Cyy
:gIMZ BOD ILss=Qss  Css
" Qa=Qn Quiz=Qs2 Qs
Liwz=Quwz  Ciwz “Cron
‘Lkor=(Li-Ls2) exp(-ks t;)+Lss exp(-k; ts3)
Cror=Lkor/ Qkar
4.1.4.2-42 ( ) BOD

4.1.4-261




@

€))

D

4.1.4-262

D

a)



4.1.4.2-40 42
2.1
4.1.4.2-19
4.1.4.2-19
1.
2.
3 SS SS SS
SS SS
SS
4.
5. BOD BOD BOD
BOD BOD
BOD
6.COD BOD COD BOD
7. 1 10 12

4.1.4-263




2.1.1

2.1.2

@

2.1.3

€Y)

SS

10
5 )
D
) 2
2.1.1
SN
D
) 2
2.1.2

4.1.4-264

a) i)

2.1

2.1

SS



2.1.4

15

4.1.4.2-43

=0.5909% Ta 5.9968

Ta:

15

4.1.4.2-44

=0.6093x Ta 6.1885

Ta:

4.1.4-265



4.1.4.2-45

15

0.7294x Ta 4.694

Ta:

y = 0.5909x + 5.9968

)

(

4.1.4.2-43

4.1.4-266



4.1.4.2-44

35 :
30 7
25

~ 20
~ 15

-5 0 5 10 15 20 25 30 35
Q)

4.1.4.2-45 (

4.1.4-267



2.1.5

BOD:BOD

BOD:BOD

BOD

BOD
BOD 5

4.1.4.2-46

BOD=0.2387x %% (g<0.1)

BOD=1.7356x g% (q 0.1)

(g/s/km?)

(m¥/s/km?)

BOD

BOD

BOD
BOD
54

4.1.4.2-47

BOD=1.0368x q*-%%

(g/s/km?)

(m¥/s/km?)

4.1.4-268

15

15

BOD

BOD



BOD
BOD
15

4.1.4.2-48 BOD

BOD=0.839x q!-2%57

BOD:BOD (g/s/km?)
q : (m*/s/km?)
BOD
BOD
COD  BOD BOD
BOD
BOD

4.1.4.2-49

BOD=0.8781x @°-%%%

BOD:BOD (g/s/km?)

q : (m3/s/km?)

4.1.4-269

BOD

CoD

15



100 —
y = 1.7356x"%"®
S 101 (q 0.1)
g
Y
[%2]
> 1t
o
0.1}
(]
8 0 Ol [ ] (]
SR y = 0.2387x%-8%%
0.001 (0D
0.01 0.1 1 10
m/s/km?
4.1.4.2-46 (
10 | |
€ y = 1.0368x! 2%
X 1 L
Y
)
N
N/
0.1 |
_ 0.01 |
2
0.001
0.001 0.01 0.1 1 10
(m/s/km?)
4.1.4.2-47

4.1.4-270



10

< y = 0.830x2%
£ 1+ R . EEEEEEE
)
N
N
0.1
o 0.0 @€
2B
0.001
0.01 0.1 1 10
(n*/s/kn’)
4.1.4.2-48
10
T o
~ L Ly =0.8781X%%%F ;7
k=
S °
S 0.1 , . :
0.01
S 0.001
0.0001 b el
0.0001 0.001 0.01 0.1 1 10
(m*/s/km®)
4.1.4.2-49 (

4.1.4-271



2.1.6 COD BOD

CoD
CoD
BOD
BOD 59
15 4.1.4.2-50 CoOD  BOD
CoD

CoOD  BOD
BOD=0.5477x COD
8
6 -

y = 0.5477x

BOD(mg/L)
S

Cob(mg/L)

4.1.4.2-50 COD  BOD ( )

4.1.4-272



CoD

CoD
CoD oD
COD BOD
CoD( P-COD )
14
4.1.4.2-51 P-COD BOD
COD
P-COD BOD

BOD=0.5176x P-CODC-3#

3.

BOD(mg/L)

2.1.7

5

y = 0.5176x°-3%8

¢ 20 40 & & 100
P-COD(mg/L)

4.1.4.2-51 P-COD BOD

4.1.4-273

15



2.2

53

10

SS

10

BOD

4.1.4-274

SS

4.1.4.2-40 42

BOD

4.1.4.2-52



H1.11 H2.1 H2.3 H2.5 H2.7 H2.9 H2.11

H1.9

H1.3 H1.5

S64.1

100

o o o o
(=) < N
(1/6w)ss

H1.3 H1.5 H1.7 H1.9 H1.11 H2.1 H2.3 H2.5 H2.7 H2.9 H2.11

S64.1

H2.5 H2.7 H2.9 H2.11

H2.3

o

o

H1.5 H1.7 H1.9 H1.11 H2.1

H1.3

o,

S64.1

15

(1/6w)aog

o~ (=2} © ™ o
—

H1.5 H1.7 H1.9 H1.11 H2.1 H2.3 H2.5 H2.7 H2.9 H2.11
( )(1/5)

H1.3

S64.1

4.1.4.2-52

4.1.4-275



SS(mg/L)

)

(

BOD(mg/L)

100

80

60

40

20

15

12

©

o

4.1.4-

H3.1 H3.3 H3.5 H3.7 H3.9 H3.11 H4.1 H4.3 H4.5 H4.7 H4.9 H4 .11
—_— o
o
PO fh
H3.1 H3.3 H3.5 H4.9 H4 .11
_ °
T
|
H3.1 H3.3 H3.5 H3.7 H3.9 H3.11 H4.1 H4.3 H4.5 H4.7 H4.9 H4.11
—_— o
T T T
| | |
| | |
*********** 4---"-""*-"—-"-">">-">">-"~"~"~"~"+t-"=-~"=~"~"~">-"">">">~">~"~"~"~"~"~"~"~"~"~"~"~"~"~"~"~"=~"~"=~"=~"=~"=~"=~"=~"=" =~ === -
| | |
| | |
o | | |
| | |
| | |
L | | |
| | |
| | |
- | | |
| | | °
W«W Lo o ta S o Inon ““""*—-“‘*-‘3—*6‘03 2 -
H3.1 H3.3 H3.5 H3.7 H3.9 H3.11 H4.1 H4.3 H4.5 H4.7 H4.9 H4 .11
4.1.4.2-52 ( )(2/5)

276



H6.11
H6.11
H6.11

H6.9
H6.9
H6.9

H6.7
H6.7

H6.5
H6.5
H6.5

H6.3
H6.3
H6.3

H6.1
H6.1
H6.1

H5.11
H5.11
H5.11

H5.9
H5.9
H5.9

H5.7
H5.7
H5.7

H5.5
H5.5
H5.5

H5.3
H5.3
H5.3

o

H5.1

H5.1
H5.1

(1/6w)aog

H5.7 H5.9 H5.11 H6.1 H6.3 H6.5 H6.7 H6.9 H6.11
4.1.4.2-52 ( )(3/5)
4.1.4-277

H5.5

H5.3

H5.1



SS(mg/L)

)

(

BOD(mg/L)

100

80

60

40

20

35
30
25
20

15

15

H7.1

H7.3

H7.7

H7.11 H8.1 H8.5

H8.9 H8.11

H7.1

H8.9 H8.11

H8.1

4.1.4.2-52 ( )(4/5)

4.1.4-278



H9.9 H9.11 H10.1 H10.3 H10.5 H10.7 H10.9 H10.11

H9.7

H9.3 H9.5

H9.1

20

H9.3 H9.5 H9.7 H9.9 H9.11 H10.1 H10.3 H10.5 H10.7 H10.9 H10.11

H9.1

H10.5 H10.7 H10.9 H10.11

H10.3

H9.11 H10.1

H9.9

H9.3

H9.1

15
1

2
9
6

(1/6w)aog

H9.5 H9.7 H9.9 H9.11 H10.1 H10.3 H10.5 H10.7 H10.9 H10.11
( )(5/5)

H9.3

H9.1

4.1.4.2-52

4.1.4-279



L,

H1.3 H1.5 H1.7 H1.9 H1.11 H2.1 H2.3 H2.5 H2.7 H2.9 H2.11

S64.1

=)
H2.3

H1.11

H1.9

o o o o o o
m @ © < N
(1/6w)ss

H2.7 H2.9 H2.11

H2.5

H2.1

H1.3 H1.5 H1.7

S64.1

H2.5 H2.7 H2.9 H2.11

H2.3

o

o

H1.5 H1.7 H1.9 H1.11 H2.1

H1.3

S64.1

15

(=2} ©

(1/6w)aog

H1.5 H1.7 H1.9 H1.11 H2.1 H2.3 H2.5 H2.7 H2.9 H2.11
( )(1/5)

H1.3

S64.1

4.1.4.2-53

4.1.4-280



SS(mg/L)

)

(

BOD(mg/L)

100

80

60

40

20

15

12

©

o

H3.3 H3.5

H3.7 H3.9

H3.11

H4.1

H4.3

H4.5 H4.7 H4.9 H4.11

—_— o

H4.9 H4.11

H3.9

H3.11

H4.1

H4.3

H4.5 H4.7

H4.9

H4.11

4.1.4.2-53

4.1.4-281

)(2/5)



H5.3 H5.5 H5.7 H5.9 H5.11 H6.1 H6.3 H6.5 H6.7 H6.9 H6.11

H5.1

H5.3 H5.5 H5.7 H5.9 H5.11 H6.1 H6.3 H6.5 H6.7 H6.9 H6.11

H5.1

H6.11

H6.9

H5.3 H5.5 H5.7 H5.9 H5.11 H6.1 H6.3 H6.5

H5.1

(1/6w)aog

H5.3 H5.5 H5.7 H5.9  H5.11  H6.l H6.3 H6.5 H6.7 H6.9  H6.11
)(3/5)

H5.1

(

4.1.4.2-53

4.1.4-282



SS(mg/L)

)

(

BOD(mg/L)

H7.

15

12

©

o

4.1.4.2-53



H9.3 H9.5 H9.7 H9.9 H9.11 H10.1 H10.3 H10.5 H10.7 H10.9 H10.11

H9.1

H9.11 H10.1 H10.3 H10.5 H10.7 H10.9 H10.11

H9.9

H10.5 H10.7 H10.9 H10.11

H10.3

H9.11 H10.1

H9.9

H9.3

o ©o

15

H9.1

15
12
9
6

(1/6w)aog

H9.3 H9.5 H9.7 H9.9 H9.11 H10.1 H10.3 H10.5 H10.7 H10.9 H10.11
( )(5/5)

H9.1

4.1.4.2-53

4.1.4-284



3.1

4.1.4.2-20

4.1.4.2-20

102.5m
T.P.+2.700m

200m

Im

8.

4.1.4.2-7

9.COD BOD

BOD COD

BOD

COD BOD

10.

6 1

10 12

)T.P.

4.1.4-285



3.1.1

102.5m T.P_.+2.700m

3.1.2

200m

Im

10700m

9700m

8700m

7700m

6700m

4.1.4.2-54 ( )

4.1.4-286



5700m ) 7700m 8700m 9700m
NWL ] 2.7p
4.1.4.2-55 )
3.1.3
3.1.4
3.1.5

4

.1.4-287

10700m



3.1.6

63 15

4.1.4.2-56

=0.7294x Ta 4.694

Ta:

3 5 T T T T

30 |y = 0.7294x + 4.694 '°

25 r
~20 r
~15 |

4.1.4.2-56 (

4.1.4-288



3.1.7

15 4.1.4.2-57
4.1.4.2-21 (
q (m*/s/km?)
SS | g/s/k? $5=13.231x g%
COD | g/s/km COD=4.1639x g-*%
T-N_| g/s/kn? T-N=2.1406x g%
1-N g/s/km? 1-N=1.808x q!-15%2
T-P g/s/km? T-P=0.1597x ¢15%
I-P_| g/s/ki? 1-P=0.1401x g%’

4.1.4-289




100
N .
£ 10 Y= 4.1630%% ®
a4
N
)
> 1 -
N’
0.1
S o0.01 ;-
0.001
0.0001 0.001 0.01 0.1 1 10
(m*/s/km?)
CTTIT T ?
£ 1|1y = 2.1406x"% _—
=
N
2
S 0.1 r
N’
0.01 f
T 0.001 |
0.0001 0.001 0.01 0.1 1 10
(m*/s/km?)
10
T T .
- 1.1539_ _ _ | _ @ | _
Ng 1 F---y = 0.1597x o
%
9 0.1t
S
0.01 |
0.001 -
5
F0.0001 -
0.00001 b ol
0.0001 0.001 0.01 0.1 1 10
(m*/s/km?)
4.1.4.2-57

10000
1000
100

10

1

0.1
0.01
0.001
0.0001

(9/s/kn?)

SS

R .
y = 13.231x%% °

0.0001 0.001 0.01 0.1 1 10

10

0.1

(g9/s/km?)

0.01
< 0.001

0.0001

0.001
% 0.0001

0.00001

4.1.4-290

(m¥/s/km?)

_y= 1.808)(1.15927 N

0.0001 0.001 0.01 0.1 1 10

(m%/s/km?)

1T V
y = 0.1401%

0.0001 0.001 0.01 0.1 1 10

(m*/s/km?)



3.1.8

D

1.2.8

20

CoD

SS

3.1.9 COD  BOD

15

BOD

:0.01

:0.15m/

:0.15m/

:0.00m/

:0.10m/

:1.00m/

BOD

4.1.4-291

)
1.2
4.1.4.2-7
cob
BOD  COD
coD
4.1.4.2-58

BOD

54

CoD



Cob(mg/L)

BOD(mg/L)

y = 1.4306x

6,
4,
2+ °

0 2 4 6 8

BOD(mg/L)
4.1.4.2-58 BOD COD (
CoD
BOD
4.1.4.2-59 CoD

10

. | o y = 0.5533x

6,

4

2,

0

4.1.4.2-59 COD

Cob(mg/L)

BOD (

4.1.4-292

BOD

BOD

CoD

15



3.1.10

SS BOD

4.1.4.2-60

4.1.4-293

SS

BOD



H7.3

A

H7.11
H7.11
H7.11

H7.9
H7.9
H7.9

H7.7
H7.7
H7.7

H7.5

H7.5

H7.3

H7.1
H7.1
H7.1

H6.11
H6.11
H6.11

H6.9
H6.9
H6.9

H6.7
H6.7
H6.7

H6.5
H6.5
H6.5

H6.3
H6.3
H6.3

0
60
30

0

H6.1
H6.1
35
30
25
20
H6.1
15

(1/6w)aog

H6.7 H6.9 H6.11 H7.1 H7.3 H7.5 Hr.7 H7.9 H7.11
( )(1/3)
4.1.4-294

4.1.4.2-60

H6.5

H6.1



SS(mg/L)

)

(

BOD(mg/L)

N ‘ ‘h.(\—mm

oMy

H8.1 H8.3 H8.5 H8.7

100

H8.9 H8.11 H9.1 H9.3 H9.5

H9.7

H8.9 H8.11

H8.3 H8.5 H8.7

H8.9 H8.11 H9.1

15

©

o

H8.1 H8.3 H8.5 H8.7

H8.9 H8.11 H9.1 H9.5

4.1.4.2-60 (

4.1.4-295

H9.7

)(2/3)



SS(mg/L)

)

(

BOD(mg/L)

H10.1

80

60

40

H10.3

H10.5

H10.7 H10.9 H10.11

H10.1

35
30
25
20
15

10

15

12

©

o

0

H10.5

H10.7 H10.9 H10.11

H10.1

H10.7 H10.9 H10.11

H10.1

H10.3

H10.5

H10.7 H10.9 H10.11

4.1.4.2-60

4.1.4-296

(

)(3/3)



4.1.4.2-61

i)

4.1.4.2-61

4.1.4-297



TR A

ES LB

ke

BAE

S

o il

R QU EN
I E X
AT

i nt

AR

: i T E% i

PO & £ ire:1
PRI

: AP ERE CR5ERR)

AR RGE
: AR IR CR5ERR)

L AHRETE
: APEFETIE CR5ERD)

L AHEARE
s AP ARIE CR5ERR)

: TEHRAER

M ELE = : hrUXL

THEMER (R

1

4

:200, 000

8 km

X4. 1. 4. 2-61

IKEDF AR U F i =

4.1.4-298




